
AVT1601

A-Series 1 Step Variable

Stair Section

IN-AVT1601 06/02/22 1 www.greenestairs.com



AVT1602, A-Series 2 Step Variable Stair Section

QTYDESCRIPTIONPART NUMBER

2Roof Stair Leveling PlateART-1011

1Right Stair Post, GuardrailART-1015

1Left Stair Post, GuardrailART-1016

2Post ExtensionART-1105

1Cross Mount FootART-1106

4Angle, Siderail, 1 StepART-5001

1Tread 30 x 11 Step AssemblyAS00030

4Handrail Clamp for 1.5 inHRC1500 

2#12-14 x 3/4" ScrewFloor screw

21Hex Flange Screw - Regular Thread - 

Inch

IFI 111 - 5/16-18 UNC x 

0.75

21Hex Flange NutIFI - I0.3125 - 18

220 in 1 in dia tubing 6in swagePN-TR1002006

420 in 1.5 dia tubing 6in swageTR1502006

41.5" pipe cap (end section only) 

21" pipe cap (end section only)
 

Parts List

IN-AVT1601 06/02/22 2 www.greenestairs.com



ART-1015 ART-1016

ART-1011

Handrail Clamp for 1.5 in

#12-14 x 3/4" Screw

5/16"-18 x 3/4" Flange Bolt

5/16"-18 Flange Nut

ART-1106

ART-1105

AS00030

TR1002006

TR1502006

ART-5001

Parts List

45.25 

All units in inches

35.25

22.50

30.00

10.00

20.00

20.00

1.51

1.16

18.50

IN-AVT1601 06/02/22 3 www.greenestairs.com



 

 

PARTS USED IN STEP 1

QTYDESCRIPTIONPART NUMBER

1Cross Mount FootART-1106

2Post ExtensionART-1105

1Right Stair Post, GuardrailART-1015

1
Left Stair Post, GuardrailART-1016

105/16"-18 x 3/4" Flange Bolt5/16-18x3/4FB

105/16"-18 Flange Nut5/16-18SFN

Step 1: Adding the Posts and Mount

Figure 1

Figure 2

A. Place the ART-1105 braces against the ART-1106 mount as shown in Figure 1. 

The braces' flanges will face up the stair run when installed.

B. Secure the braces to the cross mount using (4) 5/16" flange bolts and nuts.

C. Place the ART-1015 and ART-1016 posts against the ART-1105 braces. The bolt 

spacing shown in Figure 2 are in the lowest position; adjust the height to fit.

D. Secure each in place with (3) 5/16" flange bolts and nuts.

ART-1015

ART-1016

ART-1105

ART-1106

IN-AVT1601 06/02/22 4 www.greenestairs.com



PARTS USED IN STEP 2

QTYDESCRIPTIONPART NUMBER

45/16"-18 x 3/4" Flange Bolt5/16-18x3/4FB

45/16"-18 Flange Nut5/16-18SFN

2Roof Stair Leveling PlateART-1011

ART-1011

Step 2: Adding the Leveling Brackets

A. Take (2) ART-1011 leveling brackets and attach to the 

ART-1015 and ART-1016 posts as shown in Figure 3 

and Figure 4.

B. Secure the brackets in place using (4) 5/16" flange 

bolts and nuts.

Figure 3

Figure 4

ART-1016

ART-1015

IN-AVT1601 06/02/22 5 www.greenestairs.com



PARTS USED IN STEP 3

QTYDESCRIPTIONPART NUMBER

4A-Series 2 Step SiderailART-5002

2Tread 30 x 11 Step AssemblyAS00030

85/16"-18 x 3/4" Flange Bolt5/16-18x3/4FB

85/16"-18 Flange Nut5/16-18SFN

A. Place (2) AS00030 step treads in line with (4) ART-5002 siderails 

as shown. 

B. Using (8) 5/16" Flange Bolts and (8) 5/16" Lock Nuts, secure the 

step treads to the siderails. On the top stair, omit two of the bolts 

and nuts; they will be added on a later step.

ART-5002

Step 3: Adding the Step Tread and Siderail

Figure 5

IN-AVT1601 06/02/22 6 www.greenestairs.com



PARTS USED IN STEP 4

QTYDESCRIPTIONPART NUMBER

65/16"-18 x 3/4" Flange Bolt5/16-18x3/4FB

65/16"-18 Flange Nut5/16-18SFN

A. Using (6) 5/16" flange bolts and nuts, bolt the siderails to the

leveling bracket. Review Figure 6 and Figure 7 bolt layout.

B. Tighten the bolts on the leveling plates after the final 

placement.

Step 4: Attaching Leveling Plates to the Siderail

Figure 6

(From below stair)

Figure 7

IN-AVT1601 06/02/22 7 www.greenestairs.com



DETAIL

A

DETAIL

B

PARTS USED IN STEP 6

QTYDESCRIPTIONPART NUMBER

45/16"-18 x 3/4" Flange Bolt5/16-18x3/4FB

45/16"-18 Flange Nut5/16-18SFN

6#12-14 x 3/4" ScrewFloor Screws

4Handrail Clamp for 1.5 inHRC1500

4
20 in 1.5 Swaged Tubing 6" swageTR1502006

220 in 1.00 Swaged Tubing 6" swageTR1002006

 

 

A. Taking the (4) TR1502006 swaged pipes, position the pipes as shown in Figure 8, Detail A. Secure the pipes to the posts using

(4) HRC1500 handrail clamps, and (4) 5/16" flange bolts and nuts.

B. After the (4) TR1502006 have been positioned to the desired location, use (4) self-tapping screws and secure the 1.5" pipe to 

the clamps. The screws should be drilled through the bottom of the clamps, to minimize interference with hands.

C. Take the (2) TR1002006 swaged pipes, and position them as shown in Figure 8, Detail B. Secure them to the posts by using 

(2) self-tapping screws. There is a hole on the post to aid in starting the self-tapping screw.

D. If this will be the first or last stair section, insert the plastic pipe caps to seal open ends

Step 5: Attaching the Handrails

Figure 8

IN-AVT1601 06/02/22 8 www.greenestairs.com




